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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer as directed: 1x10=10

Ao Sl Ues WA s
- (@) Which of the following is not a
managerial function of human resource

manager ?

©ETd IOl B R A2 ARG
ATBITALTE I 722

(i) Planning
GISEERIEat
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(i) Motivation
SelieTe

(iii) Organising
FARAN STl

(iv) Controlling -
Tzael Al

(Choose the correct answer)

(0

(@)

(e)

Projective test is a type of selection test.
(State True or False)

AP SATHAYT AT A T G |
(T% 7 5% [73))

Provident fund is an example of i
(Fill in, the blank)

3 @9ft Tarmetl
(T 912 97 )

Seniority is a base of promotion.
(State True or False)

SN EREe

(7 TGl IR Shrad) vl simafes 9ot fSfe| (v @ s A3
(b) Which among the following is not a () Which of the following is not an
technique of job analysis ? involuntary separation ?
oeTd IRl I i R CRE w23 2 OeTe Wl (G SHoRTETRE F2RERe 92T 2
(i) Questionnaire (i) Downsizing
wﬁ SFE ACTIO
; (i) Dismissal
(ii) Job performance
. LRI
o (i) Transfer by request
(iii) Training S AR e
. SR (iv) Termination
(iv) Interview QTR
AFEFE (Choose the correct answer)
(Choose the correct answer) (% Tesch) FR Tlerss))
(5 Tewch! A2 Tevesr) ;
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(9)

(h)

1

0)

Critical incident method is a method of

performance appraisal. :
(State True or False)

g oA Al O TR A1 51 TS |
(%% (@ % 1))

Rowan premium plan was developed
by D. Rowan in the year

s
() 1910 (5&%0)
@) 1911 (555d)
(i) 1901 (550%)
(iv) 1921 (553))
(Choose the correct answer)
(w7 Tesh TR Tl6ar)

Hobbies are included in work life
balance. (State True or'False)

ST TG SR SOYe I |
(% (@ 5% [o730)

In which Act the provisions relating to
the health of the workers are stated ?

SO A AR A RATR, R
SISO TS WA0R?
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2. Write very short answer : 2x5=10

fs S T e ¢

(a) Write two characteristics of human
resource management. :

i o SRS 7o) @ EE
(bp) What is recruitment ?
e M (2

(c) State two objectives of performance
appraisal. !

fog iR 70 o FTl
(d) What is induction ?
wiafYowsd e (62
(e) State two causes of demotion.

AR 70 P19 B 4 |

3.  Answer any four of the following : 5x4=20

(@) Explain in brief the qualities of a
human resource manager.

ST T AR et B <ol |
(b) Write a note on fringe benefit.

esfaf ANIRAT @sRe @bl (B F
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‘(c) Explain in brief the factors affecting
~quality of work life.

TGS @[5 T LSO T FIRFAIR 5
Ff =

(d) State briefly the objectives of social
security.
ﬂnm%asﬁﬁwrﬁaﬁnﬁﬁrRQ§ﬁqtﬁﬁzawzﬁﬁs

(e) State the difference between Personnel
Management and Human Resource

Management.
e #AROERI S A T2 ARDEHE WSS
AL el |

() Write a note on job description.
< Resfda e <o Gt B
4. Answer any four of the following:
10x4=40
weTe WAIERR #[1 g 510 ©ed sl ¢

(i) What 1s performance appraisal ?
Explain any two techniques of
performance appraisal.

Fhow TR A 52 2R RAE] 757 e
Jefel <1 |
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(1)

(iti)

()

()

| (vi)

What is job analysis? Explain the
process of job ana1y51s

I R am1ﬁ%v¢nnaaﬁmaafLmﬁﬁavwr
SN

Explain the importance of human
resource planning. What are the
objectives of human resource planning ?
SR A7 AR g el <1 | e
ARTHAT SR IR 2

What is human resource

accounting ? Explain the advantages
and disadvantages of human
resource accounting.

TR 2w f2pisieae W {52 WA Am
feviieei el o SEREPRR R |
What is human resource management ?

Explain how the concept of employees
is undergoing changes in recent times.

| Ol o R o o B (O B SR e R e D)

TR HREAPTIZ (e SRS (202 CR R
=

Describe the methods of executive
development programme. ‘

TR AN Taa Efomsz DIl 4 |
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(viij Explain the concept of employee
redeployment. What are the advantages
and disadvantages of employee

redeployment ?
TR 7T e 4iel et <5 | IR 77
e FRa = SRR [ 1 |

(viii) Explain the methods of wage payments.

TGR AR AROTR I 1|
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